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7 100kN/mM#E#BZ5 | 1.00| 000 ~ 114 11717 |3mZ#BAB| — ~ — — — | 100kN/m%i#82% | 1.00 | 1064 ~ 1411 117,17 |3mZE#BAD - ~ — — —
zhLst 100|114 ~ 892| 100.00| Fhis | 000 ~ 892 226 11.87 zhLst 1.00 ] 56.00 ~ 1064 100.00| FhLS | 65,00 ~ 1411 2.26 11.87
2 100kN/m##8%% | 1.00 | 000 ~ 046 106.78 |3m&xBz%| — ~ — — — | 100kN/mM%#82% | 1.00 | 11.26 ~ 1257| 106.78 |3m&E#82% - ~ — — —
Zhst 1.00 | 0.46 ~ 824 100.00 | #hst | 000 ~ 824 | 239 12.53 Fhst 1.00 | 5.00 ~ 11.26 100.00 | #hst | 5.00 ~ 1257| 2.39 12.53
3 100kN/ Mm% x5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ B - ~ — — —
Fhst 1.00 | 000 ~ 295 3804 | TnLs | 000 ~ 295| 2.66 13.44 Fhst 1.00 | 5.00 ~ 7.05 38.04 | TnLS | 5,00 ~ 7.05| 2.66 13.44
p 100kN/ Mm% 25 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ B - ~ — — —
Zhst 1.00 | 000 ~ 612 76.79 | #hs | ooo ~ 612|207 10.87 Fhst 1.00 | 5.00 ~ 8.66 76.79 | FhS | 500 ~ 866|207 10.87
5 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ B - ~ — — —
Fhst 1.00 | 0.00 ~ 493 61.43 | Fhs | 000 ~ 493 2.01 10.52 Zhst 1.00 | 5.00 ~ 6.00 61.43 | #hst | 5,00 ~ 6.00| 201 10.52
P 100kN/ Mm% 25 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 666 84.06 | Fhdst 000 ~ 666 1.79 9.37 zhLst 1.00 | .00 ~ 804 84.06 | #nst | 5,00 ~ 804)| 1.79 9.37
100kN/mM%EBZ 5 ~ ImEHBZRD ~ 100kN/ Mm%z 5 ~ IMEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/MZE#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhst ~ Zzhusn ~
100kN/M%#8 2 % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/M%#8 2 % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8 2 % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8 2 % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8 2 % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ ZThst ~ Thst ~ Zh s ~




